: VILLA 6
g
.
Hurr
= SOLUZIONE “E
8 )|
)
|
=
-
)| E
i) N %% S
i
- PIANO TERRA o PIANO COPERTURA
.
= — T
= RN T |
= |—__~ N EE’ Camera :
-'!. 52 I'_"-. \ : g mg. 12.54 i
e | (_u — |
= = . ) -
£ Boane g
cn | EE L e s
: = ——| § g ma 3. I
'g Fa%ngs L \
g g El = _.:‘_——i _I:_ Camera
:g - - mq
| = =
i Ty wmoowm
2 — 1 MONOPIANO MQ 140
- i | ] | PORTICATO MQ 89 (30%) = MQ 26,7
& — | GIARDINO MQ 214 (5%) = MQ 10,7
| Lﬂ( """"" R = GARAGE DOPPIO MQ 38 (50%) = MQ 19
& F R
B »Z.& . .
— — oy i TOTALE COMMERCIALI: 196,40 mq
=
c immobi 23

= =




